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20248 =0ilak LEtal
SN EHT BN
M Z0ipE pEed
ool mRYRE IE2Y X (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g5 d3XE 19,181,196 19,635,371 A4B4, 175
FUAE 2H2E 2,464,386 2,268,325 196,061
ggdile 1824 NH 175,080 195,328 n20,248
2E AR & X2 89,228 88,954 274
201 fer= 3| 44,998 44,574 424
01 At 2|l 16,510 15,960 550
ogs¥d 1,500 «3500H 525
ogsd AHoIA 5,500 x3500HK 1,925
ORIz 44 100,000 x5 %103 5,000
OLZHAL B2 s+ 70,0008 x202] 1,400
OxEZZE 1I=Hl 2,560
Opot= 240,000 x4 960
os= 400,000 x4H 1,600
OtlASTE Agdst A2 3,100
OMLHII S2IIE M=
30,0002 *50H 1,500
OsSHRI e Sa|
8,0002 x50 43 1,600
ONY HE-J|2 - 2D YALE 2,000
OSE82AH3E) 2,000
-Jl= 300,0002 12 *43] 1,200
=1 200,000 1 *43] 800
2 35244l 28,4838 28,614 N126
O01SZ sl 28 = (522H)
27,144,000& 27,144
OYIHAHHIFAIHI 1,344
OLE=AD] 15,000,000 8% 1,200
OLBr=A| 1,000,000% *8% 80
O M AIEI 800,000 *8% 64
203 HR=H| 10,350 10,000 350
03 A= PR FAI| 10,350 10,000 350
oyt~ & LdHAZHHR =8
10,000, 0002 *90% 9,000
OstHRF 1,500,000 *90% 1,350
206 M=Hl 12,560 13,860 1,300
01 MHZH| 12,560 13,860 1,300
Ok= Jt27] WA 12,560
Ot=27| 5,0002+1,0800HK 5,400
O=2I1 NE(SZE) 8,0002 *450 K 3,600
OIt2J1 201 WA 20,0002 *100H 2,000
OH=J1 S(FADILUE)
30,0002 x35+60H 540
OUEe=21(3=2Hel)
170,000 *60H 1,020




SN EHT BN
M Z0ipE pEed
el gEUXls PE2Y XY (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,320 1,320
11 dALEEIXIZE S 1,320 1,320
085+ 0IS&E2s 29
10,0003 * 11 +63] 660
O&H+ FUNXAZE A 29
10,0003 * 11 +63] 660
307 212+01& 20,000 19,200 800
05 2ItRIE = 20,000 19,200 800
O=dd Jt2J| A2l & EA
5,000,000& *42] 20,000
AE =d=X S8 46,630 58,650 212,020
201 et23| 45,580 47,200 21,620
01 At22te|Hl 26,380 26,200 180
ONFEEs TR 2 LAY
300,000 <4 =122 14,400
OFUAY SA=2dD| Xt
350,000 * 122 4,200
ORUAEY HABE
350,000 * 122 *90% 3,780
Oo7uAg dIIF 7 4,000,000 4,000
02 S3=gHl 19,200 21,000 21,800
OFLHAE PG ItARS
1,600,000& «12& 19,200
405 AHAHE S 1,050 5,450 A4,400
01 IR =S F = 1,050 5,450 N\4,400
O=-UAE Xelddl 1,050
OXd2E 250,000 250
OARZEHEHE 200,000 *4H 800
AL AR ERH THE I 39,222 47,724 A8,502
307 212+01™ 39,222 47,724 28,502
02 LB HAHEE 39,222 47,724 28,502
OSHs MOSXIE=XE23 AFEXIS
931,000 * 110 2 10,241
OsHs MOtEsRUE2 AFEAIE
931,000& %1104 10,241
OSHs HIZHaII/ES MBI
1,055,000& * 11004 11,605
Ost==&HY SHS23 AR
465,000 79K 2 3,255
OSHSAHEU NASAIU AFE XA
3,880,000 * 104 2 3,880
ANYESAE JIsES 258,889 209, 161 49,728
SE7E 0elold 24 258,889 209, 161 49,728
201 fet=3| 100 100 0
02 s3=gHl 100 100 0




SH: BT HEXAD
B F0I0kE PFed
o2l AEAESALE JIsEE (CHol: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ONE0I=0IAI4 HHAMY Bz
100,000 *13] 100
307 QI2tol ™ 258,789 209,061 49,728
05 QIZtRIErZ 258,789 209,061 49,728
OESTH 01RI01F DD
258,788,500& 258,789
28 J|1&, 22, SH 23 72,588 59,007 13,581
“8E ZEIIE FA 33,948 25,848 8,100
201 LBr2| 22,398 13,548 8,850
01 AtR2elt] 22,398 13,548 8,850
OAZ THALLIN K0 10,350
0FI| g2BA
10,0002 *502 *23| *90% 900
O=Al HRE21A
10,0003 #5022 %23 *90% 900
OF2e2 Al A
10,000 * 100 * 12/ *90% 900
OAIZAHEAN 10,0002 * 1002 +23] *90% 1,800
Q23| HE ALSZ A
15,0002 *300* 13| *90% 4,050
Ood=d FFEON
10, 0002155055231 +0% 90
OF2= HaA
10,0002 #1002+ 13| *90% 900
O7H 2B N3 Aot
70,0003 *82| 560
O2AE MAd &4 ABF 1,488
OCIXITH 320,000& *43] 1,280
osgz 52,0002 +43] 208
OPHEL AYYs T
10,000,000 *13] 10,000
202 04d| 4,800 4,800
01 =UOdLI 4,800 4,800
OPHALEX Ot
20,0003 *10E 24 4,800
405 RHeHE S| 6,750 7,500 AT50
0° TATUY] 6,750 7,500 AT50
OHINZA L NIt TATY
15, 0002 *5002H *90% 6,750
&t SHZAL 6,910 5,063 1,847
101 2124l 6,910 5,063 1,847
M IIZNZ22 NS Es 6,910 5,063 1,847
OSHZA HREX 212 6,724
OAMS A 84,0203 1220 1,681
OZg - MY XA
84,0203 x 120 1,681




soT #ERAD
ZoloE pEey
28 D&, 88, SH IS EER=E)
L EE .G (3) - NRAY - HAS ol b e HlmS2
OALZI = A 84,020 * 120 1,681
OIRA=ED| =X A
84,0203 * 120 1,681
O4EE J|2ARE= 186
(@ME=Ik= 6,724,000&*1.75% 118
O&EH 6,724,000 * 1% 68
A2 ol REEE 31,730 28,09% 3,634
201 L2 | 31,730 28,096 3,634
01 AtR2telt] 31,330 27,6% 3,634
o738 JIEEE ¥ 8 1,530
Oolstz 5,000 *3000H*90% 1,350
OAHEI 4T} 10,0002 *207H*90% 180
OHIEZANE MEF=EZ 24,300
OF329N 20,0002 362+ 122 8,640
OXI&X] 15,0003 x81 2+ 122 14,580
O=F2H 5,0002 182+ 123 1,080
oO73E 2= ME 10,000 *2500H4 2,500
ogdze 29Y 3,000
OZ&=T 010IK HMZ
200,000& 153 3,000
33234l 400 400 0
Ol AH2H SAI2e 50,000 8K 400
3 NS =4 894,249 791,399 102,850
AL RXl2el 694,906 607,972 86,934
2Bt A| 622,654 522,330 100,324
ASR2elt] 47,749 63,554 A 15,805
AL RIZHIAAE =2
570,000& =123 6,840
0] Xz 40,0003 «8CH* 12 3,840
SIEEFI| Xtz
35,0003 #4CH* 123 1,680
AU === 33,94
Osd)| At =2
603,0002 x 123 7,236
OS2I BIIBA =22
140,000& *3IH 2+ 13| 420
O&EIIANE HHFZ =2
6,779,000& x13l 6,779
Oagotdae| AL =2
600,000 *10& 6,000
OaZAd H3)ls & SHELEZ
2,500,000& 23| 5,000
QSR IIA HI|ZA =2
150,000 *13] 150




SH: BT HEXAD
M Z0IpE pEeY
cels Es FAEE xd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHAl A5 22w
1353 *4,480 M »83] 4,839
ON4Z Ha 448
10,0002 x 168 = +23] 3,360
0ol £ 248
150,0002 %12 150
octd eIt WSS 1,09
Oag 250,000 12 250
Osdl 25,0002 %12 25
Ot 350,000 %12 350
O&J| 150,000& %12 150
OJIA 280,000 %13 280
oA LEdE =23 100,000 *4& 400
02 S3=gHl 574,905 458,776 116,129
osE2= & HA 427,215
(OFSPIESS=) 32,500,000& «12& 380,000
(OPJES=i=) 350,000& * 122 4,200
Odotr=ER= 2,400,000 12& 28,800
Oagetd S /| 60,0002 %12 60
O&IDIe g3l 200,000& %12 200
OJIAHZHIA & g2l 123,000& %12 123
OuUSReRg= 500 %15, 246 x50k 3,812
OJAHg YRS Z 20,0002 *12] 20
OAEZEHl =Xt 63,134
OFARiE2 |AHI(E2X)
1,320& %14,938m *9(0% 17,868
O&JIANE FAl2cl
269, 9683 x2& +502] «00fk 24,298
OIIAAE FAI2el
232,974 x2H 502 *90fh 20,968
OF A = 221(9,950m")
2,51439,950m x33] 75,043
OF A HITI & A(920H) 9,513,000& 9,513
206 MH=H| 28,809 32,312 A\3,503
01 M=4l 28,809 32,312 23,503
OFEA B4 ES 22,536
OF=2=sEX S 58
225,000 x55+ 128 13,500
oMl SHHSF
2,170 1350 123 3,516
OFE2E &+ 460,000 12& 5,520
OFA AME22IES 6,273
OAlE = A==cl XM 90,0008 205 1,800
OMIIARE 2tH)| S 58
45,0002 x55+ 122 2,700




SN EHT BN
M Z0IpE pEeY
cels Es FAEE xd EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OJINHARE HHRAXHIH(55)
27,0002 +65+122 1,620
Oble 2&I| =57 1,5213 %1001 153
401 Al HIZ R OHHI 43,443 42,000 1,443
01 AlZ8| 43,443 42,000 1,443
OJ&Hldsa8d 89 23,010,000 23,010
OFAL HE Hte A HA 4(4,318m)
20,433,000 20,433
getet 2 HE R el 199,343 183,427 15,916
201 er2 3| 123,880 118,677 5,203
01 AtR2te|HI 17,100 8,507 8,593
OYE(ZL,BOH) 242
20,0003 »1504 3,000
O==2c| el 2703 5,000 1,350
O=2F &Y |XZel 89
10,000, 0002 10,000
OE8S 2 2BL4E
250,000& #2JH 2-#52 2,500
OEA & AlE2te| 2%t 50,0003 +5& 250
2 S52g4l 106,780 110,170 23,390
OXtsx 2el 19,075
Oxtgze| 282 16,590
-SEX 38 400,000 *3CH 1,200
-SEi S8 580,000 *3CH 1,740
-SEX e 450,000 1CH 450
-SE S 500,000 1CH 500
-SEA HE 800,000 *1CH 800
-3l=i 48 900,000 9CH 8,100
S=xt SE 400,000 1CH 400
-St=SXt e 1,700,000 <2CH 3,400
OXNS XAl 2,385
-S8it 8¢ 75,0002 *3H 225
-S8%t 8¢ 250,000 *3H 750
-SE e 400,000 1CH 400
-SE S 100,000 «1CH 100
-Set e 120,000 *1CH 120
—S=x &8 55,0002 ~9CH 495
SI=i € 55,0002 *1CH 55
=X e 120,000 <2CH 240
O Rg=2 100
-StExt AE 50,0002 «1CH*23] 100
OFIIBMN =2 (58,58, 32, S=1)
27,0003 »21CH*22] 1,134




SN EHT BN
M Z0IpE pEeY
cels Es FAEE xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB =2 (58,58, 32, 5+1)
51,0002 »21CH*12] 1,071
OxtE =Xl 85,500
(OFSPIPN; 1,500,000 «2CH 3,000
O3t 2,700,000 *3CH 8,100
Ossxt 4,900,000 +2CH 9,800
Osgxt 6,500,000 =2CH 13,000
Oszt=xt 4,300,000&  12CH 51,600
202 04| 5,463 4,750 713
01 =LHOLI 5,463 4,750 713
OLE MU= IHEXEH 04| 5,463
(@Fa 37,5002 x5 x 192 3,563
OZ2U 10,0003 x5 +38%] 1,900
405 KHoHFSHI 70,000 60,000 10,000
01 IR ESFISHI 70,000 60,000 10,000
OAESSHEIIXHH)
70,000, 0003 »1CH 70,000
2t ogtxd ¥ 28 N 1,063,580 1,013,430 50,150
e HYYES 29 475,426 491,753 A16,327
201 el 240,346 228,173 12,173
01 At2teltl 30,956 30,956 0
02sy RAUUALZI| AIE SRi=
156,000 *1CH 156
O&FE 2ZEHN + 30,800
OMSIl A 553,000& *50= 27,650
OgEX 63,0002 »50= 3,180
2 352484l 209,390 197,217 12,173
ONAHEHI & AIAE X2l 165,366
Oogee ZRHs6er)
4,843,000 123 58,116
OgRE =l (179tH)
467,370 =123 5,609
OReleI@LZI(200H)
6,418,860« 12& 77,027
Osgeagaol(2rt)
1,364,070« 122 16,369
OUZEHIIS tiE&D 2II(50H)
229,600& 122 2,75
OFAL &L AIAE 22t
5,489,000 5,489
O+% & sHsS sHOIX =Al2e
1,225,000« 123 14,700
OEQHAZEN ALZ2RXIHI(2t0l&dA) 28,890
OPCE sl =2 28,0002 »500= 14,000




SN BET BITAD
M Z0IpE pE2Y
el FEE )P o BE X8 (crel: g)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OAXHE 84l Z2 7
440,000 x2= 880
OUPCXIZ|10] =)
35,0002 *x100= 3,500
OMoIEE ASstT2 )H(PCE)
40,0003 *1002 4,000
OsgEotae T2
5,000 x502=2 2,510
OZotix|2el T2 (PCE)
40,0003 1002 4,000
CIEE= I NS T 434
O2&9 RRI01/LSI| &EI|Ald2elt]
170,000 1CH 170
02 2olpaLaI| MR
22,0002 128 264
401 A& HIZLS0HY| 1,100 1,100
01 Al&HI 1,100 1,100
ORQI0IALZI| |ARA N
1,100,000 & *1JH 2 1,100
405 Rt SHI 233,980 262,480 A28,500
01 ML =ZFSHI 233,980 262,480 228,500
O7& Y HY=SKHEH HIAMREH E= 199,880
Ofel=sad=H 1,400,000 *50CH 70,000
OZLIH 400,000 *40CH 16,000
OZBIH(MEZEW) 600, 0003 *20CH 12,000
O=RegIfLZ | 25,000,000 *3CH 75,000
O ==k =) 7,960,000 *3CH 23,880
Oxps=gag =8|
1,500,000 *2SET 3,000
oR0lnAETI| 2YYRA 7Y
22,000,000 *1IH A 22,000
OUEHIIZ tHEal] 2021 I|12A3 &
12,100,000 *1CH 12,100
B S4l JIBAE 29 588, 154 521,677 66,477
201 L2 | 473,836 448,190 25,646
01 At 22|l 1,600 1,000 600
OALEETAL SHEH ¥+
1,600,000 *12| 1,600
02 2324l 472,236 447,190 25,046
OSAHESIH ANEZ 228,144
OZNIRENY AEE 167,328
Fog,o.S
1,204,000& =113 &+ 123 158,928
-HY Mg AAM
700,000& 12| &+ 123 8,400
ONE3d AIBZ 54,816




SN EHT BN
M Z0IpE pE2Y
el FEE )P o BE X8 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E=TIEIEPIE=S]
262,0002 x142| &Hx 122 44,016
—Pog.B.E, JlE
30,0002 *302| &+ 123 10,800
OAle7 23288
500,000 x12 &= 123 6.000
(OFESFSEe1 NS =T=d 4,500,000 ~12& 54,000
OYEtM3 AIER 7,000&+53] &4+ 128 420
OCIHUSEHAIESE
30,0002 20| & 123 7,200
OFLYE SUB(ABHA)
20,0002 *12] &4+ 12 240
OZESHEHl KAl 182,232
OAIEE 2SS4 & 7,335,000 122 88,020
O HZWE 2,672,000 128 32,064
ONBEZA SFEH|
504,000 122 6,048
OCCTVEHI 1,845,000« 12& 22,140
O7FE AL SEHI 1,058,000 122 12,6%
DARSD| 80,0002 %122 960
OIP T BZAI AL 260,000 * 122 3,120
OS% U EFALSAAH
367,0008x 122 4,404
(OFSES su) 1,065,000 122 12,780
206 M=l 5,000 5,000
01 M= HI 5,000 5,000
OZ=ESAAIE AT 5,000
OutPAlolIE & 2,500,000 *23] 5,000
401 AlZHIZ SO 10,000 20,000 10,000
01 Al&H| 10,000 20,000 10,000
O7E Y SUE PUSAHR |
5,000,000& 22 10,000
405 AtaHE = 99,318 48,487 50,831
01 ML ESFISHI 99,318 48,487 50,831
Os8s == SAEH wH 46,318
OUERIIARIX 3,859,800 * 12CH 46,318
OHESLSAI ASHZAL =2 EH| WAl 50,000
OAISEZAN FUHE S S|
22,300,000 = 1CH 22,300
OAESTEB AL AHO0I=FHD
25,900,000 = 1CH 25,900
OtIsAEI 1,800,000 «1CH 1,800
OHIHFE WA 600,000 +5CH 3,000
A48 2aME =29 69,964 54,584 16,380
28E 2oM=E 28E 69,964 54,584 15,380




SN EHT BN
M JAFE 2HHS 29
Chel: A&s 2aHs 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A8e KS2dd =4 11,824 12,124 2300
201 er23 | 11,824 12,124 A300
01 At2teltl 11,824 12,124 A300
ORSHSAISY CHNEI} L EZ2 NZE
7,000 *500% 3,500
O-NHSHIA WSTA 2E=Y
120,000& *1 120
OSEHYI =HIE LXZ(5EEH)
29,0002 +23CH 63! 4,002
OIBALE(2SAIL) HOIBA 242
433,000 x2E*12] 866
OMSAIZY HNHEH =8 3,336
OA=Z20k 433,000 x2 L <23 1,732
OA =20k 401,0003 x22 +22] 1,604
SUIMSAIE 2tel 34,240 18,560 15,680
201 Ler=23| 9,240 9,060 180
2 s5=34l 9,240 9,060 180
O¥ES NOIEEH dol+=E 2=
5,000&x 122 60
OZSs HOIEEH MIIR=
15,0002« 12& 180
oot 2=J1+ =2l
100,000& 908 9,000
305 =S 500 500
01 =S 500 500
o023+ SXStHaSH AIFE=S
100,000 %52 500
401 AIEHIZ SR HYI 24,500 9,000 15,500
01 Al&HI 24,500 9,000 15,500
O0fel2sI1+ WA &X
3,500,000 +38 10,500
OARel 23717 UM &X
3,500,000 *4& 14,000
T2 2eHHE AL =8 23,900 23,900 0
201 fer= 3| 23,900 23,900
03 &A= 23,900 23,900
02024 F24 SdlE 2IIU2
23,900,000 *13] 23,900
olgtel 2¢ 628,061 545,476 82,585
LAY Ao L AT 628,061 545,476 82,585
g useEd =M 259,590 236,875 22,715
201 er2 3| 13,260 11,815 1,445
01 AtR2t2|HI 13,260 11,815 1,445
ougs 2 82 =5
70,0002 %62 420




SN EHT BN
B olgel 2o
Chel: pigglolar 243 U AlBI=ReaRR) (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oud? = L HUAIE e Wi
100,000 %1094 2 1,000
ougs 2 2E Ro= M 1,800
OBlge B2 HEM Rel
72,0003 255 1,800
OO0t dg U ws SA=E
120,000& * 102 1,200
ougs #Y 6,040
(@~ 50,0002 x 102+ Al 4,000
OZI 23,000 *10L+8F A 1,840
OZ2Xt 5,000 5 +8F Al 200
ouA= MEHI 6,000 x50 & x23| 600
os%R Jt2J| AN & EA
1,100,000& *22] 2,200
206 M=l 8,070 7,560 510
01 MHZH| 8,070 7,560 510
O HEE) 10,0002 *160H 1,600
OFUULIAE bldESE
250,0003 *20H 5,000
OHldZa+AIE 2B A W+8
1,100 «100H 110
O3tet &H| 1,360
OMI=I| 400,000 1K 400
OS2 M=EH 160,000 *2H 320
O8XX 160,000 ~4H 640
301 Eet2 NS 195,660 181,500 14,160
06 A= UHAHIXIE 158,160 144,000 14,160
OXSL=U OFAlHI 80,360
odg 4,000+ *122|« 128 2,880
OXISTH 4,000 *5Z #1371 A 298 77,480
O sY8UZ2I(FR & 2¢)
200,000 x13CH*12& 31,200
oxsgdgl =A24H|
200,000& x 140 2+ 122 33,600
OXtsgdl YE=Ex 28
1,000,000 * 13CH 13,000
11 #AIAMHIXIZ S 37,500 37,500 0
OXNSULAUY HXUF K=
75,0003 %500 37,500
305 HHal= S 500 500
01 =S 500 500
O=d S ANEE &=
500,000& %12 500
307 elzto| & 500 500
01 2g & 3=H| 500 500




SM: EE7 AR
ma: Dl 2o
Chel: pigglolar 243 U AlBI=ReaRR) (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O%d 5 FHA X=Hl
500,000& 12 500
405 KHoHFSHI 41,600 36,000 6,600
01 ML ESFSHI 41,600 356,000 6,600
og=d 35,0002 *1,000H 35,000
(EINE-E=22F= 660,000 * 107K 6,600
HEE MS2RE 2l 368,023 308,173 59,850
201 2Bt | 1,480 1,630 A150
01 AfR 22l 380 380 0
ONBZSRA AANT BANLE
120,000 *23] 240
OAEISRRY AZWS B4
70,0002 %23 140
02 s3=gHl 1,100 1,250 A150
OE&4MAUEH 22,0003 +50 1,100
301 EtEE S 366,543 306,543 60,000
0 AR=SR22a= 366,543 306,543 60,000
©¢el2H| 362,500
o= 1,000,000& x25E * 123 300,000
oS4l 7,0002 x25EH 250 43,750
OS] 3,000 x25F 250! 18,750
0=7s 4,043
Odt= 50,0003 x 132 1,300
Ooxs=s 59,0002 x13&+2& 1,634
(OFS)T: 62,0003 131 806
Ottst 31,0002~ 13 *1Z & 403
SNAs s8N 448 428 20
201 er23 | 448 428 20
01 At2teltl 448 428 20
O=skds HHLEE 7Y 345
OZgH &4 230,000 1M 230
O=AIEXI(M) 23,0003 *58r A 115
oHldiHIg: 222 MH 103
Osl+=o 70,0003 *1H 70
Oyt 33,0002 *1H 33
Y27 SEX2 W) 16,018,785 16,766,986 AT748,201
el E3H 16,525,317 16,263,815 AT738,498
el 13,768,734 12,073,611 1,695,123
101 @124H| 13,768,734 12,073,611 1,695,123
01 &= 12,874,686 11,246,312 1,628,374
oJlZ2= 7,780,197
OJlzs(dsH) 776,462
4= 96,030,000 * 1 96,030




=M BET HEXAD
I BFSEAY|(ELT BZAAD)
el i Eg| (Ete &
SA - B GR(31) - HIRAY - BES il &k e HlmS2
5= 85,054,000 +8H 680,432
OJz22(zSH) 7,003,735
- X 7,003,735
6= 4,235,800 x66F * 123 3,354,754
= 3,216,400&+53H 123 2,045,631
8= 2,110,800& »40H 12 1,013,184
= 1,821,500 +27H 123 590, 166
oau== 812,777
OlRIERE = 88,732
S2U< 4,235,800 x30H 4, 1% 123 62,521
6= 3,216,4002*10H #4, 1%+ 12& 15,825
-2 2,110,8002*10E #4. 1%+ 12& 10,386
OFSFmtd= 583,644,580 *50%*23| 583,645
OFSImict=) =1 140,400
250 A 130,0002 x40« 123 62,400
205 0| &~25 01 8¢
110,000& *30H * 122 39,600
-15E0] &~20 0]
80,0003 +20F 12& 19,200
-10& 0] &~15E 0] et
60,0002 x10H + 122 7,200
-5E 0 &~10E 0]t
50,0002 x20H x 123 12,000
QIHEE =Y 312,000
OsE=< 132,000
i B 40,0002 x 100 122 48,000
-J|Et 20,0002 +80H 123 19,200
o PNTE 30,0003 *508 « 12& 18,000
-SMXHS 70,0003 *40F 123 33,600
oY DNIE 110,0002 10123 13,200
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SN BET Fo=X D
M A2USD EI|E CEME U
Chol: BOHSID BIRE L0100 XA RIB (Shol: % 2)
SA - BB - S9(3H) - HISAY - Ofl aro e HDE2
OSYH2EsEs sSHosdE2Y s 2 &
= 9,460,000& 9,460
OLNIS +ASYEARY SHY~ S
8,580,000 8,580
OZAMI=E XS 22 IES
9,957,000& 9,957
O&ED| OHNMEAH EXNEAIE HE
4,700,000 4,700
OJIA QEEY SHBAIL HES
2,200,000 2,200
402 SIZHXHE01 A 203,899 270,147 \66,248
01 CIZIXIE AN E X (I THS) 203,89 270,147 AN\B6,248
ORIZtARHZ HZE HES
61,000,000& 61,000
0sg 221228 =222l A
500,000 500
0Es ME22|HZE Tl
5,368,000 5,368
OLss sZ1i2Z=zY U uA
700,000 700
OZUH Al 12|Hd=2Y 2= Xls &X
10,000,000 10,000
OZUHH HAHE|HZZE "o et X
9,999,000& 9,999
OZLHH E4e|HZE Tl
2,178,000& 2,178
OZLHH EHse|HZE Tl
2,629,000& 2,629
OZUHH B2 EAZE SHEA ZAl
8,591,000& 8,591
OZLHH e |HZ2E AN, S S
6,655,000& 6,655
O=2ptH AZ2C|HZE SHf, &2EL S DM
6,226,000& 6,226
OZAH AZ1e| Hd2Y MSZSKF BX2
70,000,000& 70,000
OJIEsS 24H0HIEEZY S, &u A3
A 8,195,000& 8,195
OZAM1S HISIUEZ2Y SIEAEILZAL E
878,000 878
O&D| HNEH EHEAILE 2L
6,580,000 6,580
OJIA OHME A EXEAIE HE
4,400,000 4,400
AZ2Y M= JPEX(BX) 42,600 42,000 600
& 42,600
401 A& H|ILECHH] 19,800 20,000 A200
= 19,800




SH: EBEP Foi=x
BB UGN BIIR LEME PN
Chl: TONSID FEB L0100 2XAL A2 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 19,800 20,000 A200
OYM2E FBITF2L IISBATA
19,800,000 19,800
= 19,800
402 QI2F X201 & 22,800 22,000 800
= 22,800
02 RIENEASEZ(0IETHR) 22,800 22,000 800
OLN2E 2UARY JISBATM
20,300,000 20,300
< 20,300
OYM2S SRITARY JISBATA
2,500,000& 2,500
& 2,500
d2g FIIEAM & 2l 116,269 267,749 151,480
201 fer= 3| 68,369 139,949 AT71,580
01 At 2|l 68,369 139,949 AT71,580
OFRY MIINHAN 248
105,000 *1657H 2 17,325
OBRY HHMSINAUAL 242
46,2002 *1400H 2~ 6,468
02 HIAXHL 248
50,0002 1100 2 5,500
0FRY YoALE 24
20,0002 x2810H A-+42] 22,480
Oo3dzg iz 16,596
O2N2S SE2PZEY
500,000 x 122 6,000
Otgds 2it=d 2
583,000& * 122 6,99
0SS FRIHXAZZY
300,000& 122 3,600
402 2I2F X201 & 47,900 127,800 AT79,900
01 QI X2 AL E R (KEHITH) 47,900 127,800 79,900
oZ=zdg 2U3=E3 7,500,000& 7,500
02&8 28]IFZE =23 1,500
oo 1,500,000 1CH 1,500
02s5E 2LE20I0IHEOHIEZ RS 1,500
ouloA 1,500,000 *1CH 1,500
O2sEs F32¢2d82E 1,500
oo 1,500,000 1CH 1,500
OsuAH BE1CIF2E 1,000
O&Xd& 1,000,000 *1CH 1,000
O2dUISS E40HIEZZY 300
OItAdIelX 300,000 1CH 300
O2SS HLOHIHESZRE 1,500




SH: EBEP Foi=x
BB UGN BIIR LEME PN
CHPl: BOKSID BB LOI0IDF 2XAIA AIZ (9] Mo
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OYan 1,500,000 *1CH 1,500
o2 MEFZY 1,000
OZTXHED 1,000,000 *1CH 1,000
oSS 2EIZY 1,500
OYan 1,500,000 1CH 1,500
o=z =SHF2S0HHEZZY 300
OFIIgE 300,000 *1CH 300
O=U1= o= UHIXIOIIIERZ S 300
OHMI|gE 300,000 *1CH 300
O=U1= ot=EUst2XOHIEZZE 1,000
OZTXIHED 1,000,000 *1CH 1,000
Oosli1s sSUHSAGECISOHIEZZY 300
O&I|1eE 300,000 *1CH 300
O=U1s HAAHOIZZY 1,800
OHI|gE 300,000 *1CH 300
ooloiA 1,500,000 *1CH 1,500
oO=sU1S HMI-EIOIS0IIEHRZE 1,500
ooloiA 1,500,000 *1CH 1,500
O=2U1= ot=UHHAOHHEZZE 2,500
AXLEED 1,000,000 *1CH 1,000
OHED 1,500,000 *1CH 1,500
o=il1s =33 =2Y 300
O&IIegE 300,000 *1CH 300
o=1s 232 1,500
ooloiA 1,500,000 *1CH 1,500
o=ll1s SRIZY 1,500
ooloiA 1,500,000 *1CH 1,500
OJHd s JtZeHEtAl nLEZ=Y 1,500
Odzn 1,500,000 *1CH 1,500
OJtd= JIIEFS2HA0HEZZY 1,500
Oulz4 1,500,000 *1CH 1,500
QI8 s N2x0HIERZE 1,500
ool = 1,500,000 *1CH 1,500
OJ1d= setdIECIoHERZ Y 300
OItAdIRIR] 300,000 *1CH 300
QJIZ S YHAOHIIER 1,500
ool = 1,500,000 *1CH 1,500
o=%1s MzUEZ2Y 1,500
ooloiA 1,500,000 *1CH 1,500
O=Y1s SUIZY 1,500
ooloiA 1,500,000 *1CH 1,500
o213 U+FZ2Y 1,500




SN BET Fo=X D
BB UGN BIIR LEME PN
Chl: TONSID FEB L0100 2XAL A2 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oo 1,500,000& *1CH 1,500
O=8258 s STMIANEZZE 1,000
SAHED 1,000,000 *1CH 1,000
OXAN1S EFE2E 1,500
odall 1,500,000 *1CH 1,500
OTNIS ME2FREZY 300
OoxdJIgeE 300,000 *1CH 300
O3KN2E HALZ2ASLOIEOHE B2E 3,000
odal 1,500,000 «1CH 1,500
o 1,200,000 «1CH 1,200
OFSPIL= 300,000 *1CH 300
OZK2E HAEZCAXNEOHIE B2E 3,000
odal 1,500,000 1CH 1,500
on 1,200,000 «1CH 1,200
(OFSPI=lS 300,000 *1CH 300
259 S84 &3 & 0ts=A S 1,171,320 3,012,270 1,840,950
NG BEAY JIBES 1,320 1,470 A150
0ol 28 & SAHL 1R 1,170 1,270 A100
201 2= 1,170 1,270 A100
01 At2t2lt] 1,170 1,270 A100
OO0El0IY 2 & SAHL WS 1,170
Ous wi 5,500 x200% 1,100
Osl+=% M= 70,0002 1M 70
012101 =0IAIE EHI 150 200 A50
201 et 3| 150 200 A50
02 s3=gHl 150 200 A50
OO0l =0lAlE HHaXY 283
50,0002 *37H 2 150
2= N2 & 334 dat 1,170,000 3,010,800 1,840,800
AMWAE 222 X2 1,170,000 1,638,000 468,000
301 LEtE NS 1,170,000 1,638,000 A\468,000
03 A2 E A0 2 (XL THH) 1,170,000 1,638,000 468,000
OAMOI& XA Ots2=Hl XI&
150,0002 x650& » 122 1,170,000
AF=Z=ge] SIS 3,348 3,920 Ab72
NASE dgerd £2 3,348 3,920 ABT2
SEYRXE 3,348 3,920 ABT2
201 er23| 3,348 3,920 AbBT2
01 At2tltl 3,348 3,920 AB72
O=HEEXH 3,348
O82=3 10, 000& 2301 *90% 2,070
OZAHH 100,000 %1074 90% 900




SN EHP Eol=X|
M qAz0l0 =2XEZ
CI9l: HASE MEOE £ (cie) 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
||| oso 70,0002 624 *90% 378
dY2IZHI(&4F FU=SIW) 81,634 98,436 A16,902
=238l 81,534 98,436 /16,902
JI23Hl 81,534 98,436 /16,902
201 2= 57,294 61,236 A3,942
01 At22t2lt] 30,294 34,236 A3,942
OJ|=gdR=8AH| 450,000 x27'E 12,150
oJIEZHI(22)
8,000 x27 H+7Lx 122 18,144
02 S3=gl 27,000 27,000 0
oRER3 24,600
oget 4003 x2,0005+ 128 9,600
=P 2,5003 %5005+ 128 15,000
O3EFUE MEE(ARI=X)
50,0003 *4CH* 122 2,400
202 048l 19,440 32,400 12,960
01 2L AL 19,440 32,400 212,960
O©JI=&H| 20,0002 x27 H*32* 12 19,440
203 =] 4,800 4,800
M EASHLRFAH 4,800 4,800
O©J1F2H(3021015t) 400,000« 122 4,800




E 0 & AHE E A A

EuT MIDED
KNHBH gdat olet
ANEEH g4 =2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A WS 85,320 101,402 /16,082
M g4z J|gt 13,016 9,618 3,398
AEN 2dst &2 13,016 9,618 3,398
Nelde ot™st Jlgh &4 3,404 5,608 N2,204
201 fer= 3| 2,204 4,408 N2,204
03 &A= 2,204 4,408 A2,204
oOJ1gelgols BHSZ 2,204
OZA==g 230,000 x2H *13] 460
Odli= 12,0002 x62H x2H*13] 144
O M Xl =] 8,000 %2002 13 1,600
301 EtE NS 1,200 1,200
11 #AIAHIXIE S 1,200 1,200
OJ1gels sl 2tasl 300,000 *43] 1,200
HESHEE =S 7,519 1,450 6,069
101 e124d| 4,829 0 4,829
M ORNZZ2NSE S 4,829 0 4,829
OAHEI EINIZAL JIZtH2Z2 Xt 12
78,8802 x1& x5 4,339
O4i2E JI2RY= 490
Oo=egs 4,339,000 4. 5% 196
OH3EE 4,339,000 +3.545% 154
OFIIRAEE 154,0002%12.81% 20
OunE=s 4,339,000& *1.75% 76
O4t=Es 4,339,000 * 1% 44
201 fer=3| 2,690 1,450 1,240
01 AtR2te|HI 2,690 1,450 1,240
OAZI| MK BA SHl & e X2 1,430
Oozs € Xl 440,000 =2 880
OZERA 3| 275,000 =2 550
OAEI| HIIEAM 23 78 1,260
OAHEI EIIBAEE 7
250 *1,0007H+90% 225
OAEI FIIZA et S+ & EES
70,0002 *15IH*90% 945
OHEI ZIIZA B HIAITH
100, 0002 *17H*90% D
IR A=m2E H JPAOHE 2| 2,093 2,560 N4BT
201 fer=3| 2,093 2,560 NA4B7
01 AtR2te|Hl 2,093 2,560 VAV 'o74
O4% € JtAotd2e| EEE MA
1902 *10,6000H*90% 1,813
oAgg SRE M2uF
280,000 %13 280




FA 8T AHuSH
B &4 AW As)
el HAE sE=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sEA JEH 3t 34,150 40,168 16,018
HAXL sHF=A 13,506 17,506 24,000
S Mol ol = mlol =43t 8,506 8,506 0
201 fer= 3| 8,506 8,506 0
01 At 2t 6,006 6,006 0
OHsXel =2 3,500 +1,716ke 6,006
2 S52g4l 2,500 2,500 0
OBt & 2f4=J] FA2e] 2,500
Og=Jl JI=284 10,0002 x90CH 900
Og=J| =2l & uA 50,0002 *32CH 1,600
SASEXHHEEIIAS 5,000 6,000 21,000
201 fer= 3| 1,800 2,000 A200
01 At 2t 1,800 2,000 A200
OZZEC M) 222 MA
50,0002 *45+109H*90% 1,800
307 elztol & 3,200 4,000 A800
02 LB HAHE L 3,200 4,000 2800
O=ZEC M gdat A&
3,200,000& 3,200
USE FihE 4o 20,644 22,662 ~2,018
JIEHEYE g9 Hal 18,484 20,332 1,848
201 fet= 3| 1,864 1,532 332
02 S3=gHl 1,864 1,532 332
OFMAAAE ELXE S OIS 2=
6,000 «20H = 12& 144
Ootsgaxtg g9 RSFU
1,509 «50L+0Z 720
OIIEL SIS YFI| RAE+H
1,000,000 *1CH 1,000
206 M=l 16,620 18,800 A2,180
01 M=8l 16,620 18,800 22,180
OJtELS= =2 2H| 6,870
OFHS g5 & ML)
10,0002 *300H 3,000
OFHS ¥ AYyS
2,500 = 180H 450
O7HS 4A=23(0tA3 S 45)
10,0002 *180H 1,800
O& AT 4,500 *360H 1,620
ONE2LAHMOAN 15,0003 *450H 6,750
OIIEZEULLEN 10,0002 %3004 3,000
SNM==SHA =2 1,260 1,330 AT0
201 fet=3| 1,260 1,330 AT0
01 AtR2t2|HI 1,260 1,330 AT0




SM: 2SI MADED
B &4 AW As)
Rl USE Fa=s it (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFLS TS A AFHAUHSA ME
7,000 x200F+90% 1,260
S=2=s 900 1,000 A100
201 er=23y| 900 1,000 A100
01 AtR2t2|HI 900 1,000 A100
O=S=SEM 82 N 900
O+ 70,0002 1074 *90% 630
Oel2x 2002 *1,5000H+90% 270
HH2LIH(EGE T APGNS) 38,154 51,616 A13,462
Jl=23sl 38,154 51,616 13,462
JI23Hl 38,154 51,616 13,462
201 et 3| 24,654 26,8% N2,202
01 AtR2tc|bI 17,514 19,716 N2,202
OJ|=gdR+dAH| 450,000 x21H 9,450
OJIEZHI(=SEHI)
8,000 x 12 +7Lx 12 8,064
02 S3=4gHl 7,140 7,140 0
oRER3 7,140
oget 4003 x5505+ 128 2,640
Os7I 2,5003 %1505+ 128 4,500
202 04l 8,640 14,400 Ab,760
01 SLHoIH 8,640 14,400 N5, 760
Ozl 20,0003+ 12 +3L 122 8,640
203 HR=AH] 4,860 4,860
M A=Y= 4,860 4,860
OJI=A 4,860
O302101at 400,000 123 4,800
O302! =1t 5,000 1+ 122 60




g 8 A A

FA 8T MR
S KA 2el
el Z=tst XN 21t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EE7 MR 610,483 638,404 A27,921
KAl 2tel 548,001 550, 156 22,065
atet N2AM =t 379,195 380,305 A1,110
ANYA 2 & 22 379,195 380,305 A1,110
201 fer= 3| 379,195 380,305 A1,110
01 At 2|l 78,045 79,155 A1,110
OXZMEY A2 =8 51,625
O&JIZ2 XA M £ =4 26,257
-SSYSIA OXAM M & =
77,0003 164 Xt 1,232
NS DM HE 2 £
77,0002 x1002f At 7,700
-MHARA XA M & £
77,0003 14024 Kt 10,780
-SOA DXA WA K EH
77,0003 854 A} 6,545
O=A22XA 77,0002 x3624 At 2,772
OXSIA S DXIM M L =
77,0003 4288 Xt 3,234
OXte 210X A 77,0003 604 At 4,620
OMI2l==& XA 77,0002 x368f At 2,772
OetE 6,930
-XIgAetg et
77,0002 »40& At 3,080
-UEE U2 77,0002 %3024 &t 2,310
-NSASH U E
77,0003 x20 48 X} 1,540
OHESEF M 1002 *40, 0000 *90% 3,600
OoHsSsE M= 200 8, 0000H*90% 1,440
OXNSHFL LR 22F Y 10,350
OZegH &4 230,000 *40IH*90% 8,280
O=ALEX 23,0002 x1002} X+90% 2,070
OXZAH 22 16,070
OXIZAME g2 elS3 M
2303 x55+5,0000H 5,750
OFJIzZ NgH gFet=
100&*20,0000H 2,000
Og=% 70,0003 %132/ x40 A 3,640
Oogzte 30,0003 %132/ * 110 A 4,290
OBl 30,0003 #1332 * 10 2 390
2 s5=34l 301,150 301,150 0
ORERS(FHI|, ALK AUE S) 294,500
oget 4002 555,000 222,000
OSII 2,5002%29,000& 72,500




Q

SN BET HRD
S KA 2el
el Z=tst XN 21t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNLASA 28 sS4 0122
100&*13,0002 1,300
(OFESES | EEINfa] 5,350
(@mE =Pl 22,389,000 *1CH*8% 1,792
OB K= A| 3,200, 0002 *2CH*8% 512
OS2 MM 2,300,000 *1CH*8% 184
ON =St 3,630,000 x1CH*8% 291
osadl 8,730,000 «1LH 8% 699
OfRel=gJ| 23,400,000 *1CH*8% 1,872
S50 HgH = 168,896 169,851 A955
NLAl M =43t 168,896 169,851 A955
201 er23| 138,89%6 139,851 A955
01 At2tltl 43,644 40,599 3,045
OXNEA Mg+ A 37,189
OMEH IXM H& & =
77,0003 304 At 2,310
OS=H HE o &
77,0003+ 758 At 5,775
OMELUE & & &
77,0002 x 15245 Xt 11,704
otk etE 77,0002 x50 At 3,850
OBliXE ==& 600,000 5524 25% 8,250
Ossia & W HEX2 =8
2,000&*1,0004 2,000
OXSEME H R0 DAIAE
3,300,000& 3,300
OMgds g4 4223 28 5,175
OXZgH &4 230,000 =187 90% 3,726
O=ALEX 23,0002 704t XH=90% 1,449
OMgh S8d=)12t 2 1,280
Osl=% 70,0003 %22 *40H A 560
Oogr 30,0002 *22] * 111 £ 660
Ot 30,0003 *22]x 10 A 60
2 352484l 95,252 99,252 24,000
ORVRS(MLU=E, ==Z .00 S) 90,500
oggt 4002 *182,500& 73,000
OSJI 2,500& 7,000 17,500
OZXE ADIEE AMEEZ
33,000 =20 =122 792
ogisE HIANAY FXI2H]
330,000+ 122 3,960
303 Z&a=s 30,000 30,000
01 Za= 30,000 30,000
(OFSEEN s 30,000




SN 22T HRD
X

X XH -
o=

el SEH0 MEY d=+ (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
020219 = 0l ™ 259,600,000 *5/100 12,980
O20228 &= 251,000,000&*3/100 7,530
020238 = 949,000, 000& *1/100 9,490
HY2AZH(EG MR 62,392 88,248 N25,856
Jl=3H| 62,392 88,248 N25,856
Jl=23H] 62,392 88,248 N25,85%6
201 Ler23| 29,172 33,448 A4,276
01 At2teltl 29,172 33,448 N4,276
OJlzg 83| 450,0002 +26E 11,700
QJI=ZLI(S2)
8,000 x26H 7L * 12 17,472
202 04| 27,120 37,200 10,080
01 =LHO LI 15,120 25,200 10,080
OJ|=Z4l 20,0003 x21F 32«12 15,120
02 A0 12,000 12,000 0
OMEAN=8+ SH0iY
200,000 x5 = 12& 12,000
203 =8| 4,800 4,800
04 PAE2EERFAH 4,800 4,800
©J1F24(302!1015t) 400,000« 12& 4,800
405 KHaHE SH 1,300 12,800 211,500
01 AL =S F=H 1,300 12,800 A11,500
CES=) 600,000 «1CH 600
OHZ (3001 0I5tH) 700,000 *1CH 700




Al & 0Ol & AFSE Z Ml A
244 20flat LEe EE S HIXNAA L ~ S5 A=Y
SH: BET SAMD
I %t JiRe OFSUE TAlEE &4
Chel: S MEEH T4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SE7 SIALN 7,493,508 7,368,815 124,693
9 JHRE OISL2 SAIEE X4 986,454 941,439 45,015
e daed &4 910,671 864,229 46,442
ngss =8 28 4,547 5,392 A845
201 fer= 3| 4,547 5,392 A845
01 At 2|l 4,547 5,392 A845
OHFBS +T2W
300,000& 122 x90% 3,240
OHE&s 28t XX SRz
66,0003 * 122 x90% 713
oHg&S HMES SctLE 2 E
55,0002 * 122 *90f% 5%4
Ml SEHEI| X 45,848 50,005 N4, 157
201 et 3| 26,048 30,205 N4, 157
01 At22t2l] 6,408 10,565 N4 157
oMl S|SI| o 6,408
OgdnH ()
35,0002 * 1104 S HS*10IH%90% 3,465
Og=% 70,0003 *110H& 2H S*3IH*90% 2,079
OZAIStHet &= g
20,0003 #2574 *90% 450
OB EH2AMN 248 ZellH B
230, 0002 x2IH*90% 414
2 s5=34l 19,640 19,640 0
OZAISt0IeH QB! 2lHAIER
36,0003 +252| &+ 123 10,800
ot=E SUHE MEE
70,0003~ 1CH* 122 840
OZAISthIet RXl2eld]
4,000,000& *25CH *8% 8,000
401 A& HIX R0 19,800 19,800
01 AlZH| 19,800 19,800
OZAIPHH2H LEE) OIF&XIH
450,000 «11CH =43 19,800
2 Ea & AP =% 28t 857,386 806,392 50,994
201 2= 507,181 557,827 A50,646
01 At22t2lH] 42,099 43,559 21,460
OSHSFA UM NFHAL =&
120,000& » 12 =22 240
OF+)| Sz (BFSRHUE, =AHXD
X) 30,0008 «2CH* 122 720
OSZERAN SHIEZ - MEZ
170,000« 128 2,040
OL=HIAX D RUBHIAIAY =2
150,000& «12& 1,800




SH: BET SAMD
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